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JAMMU & KASHMIR CIRCLE- PA/SA EXAM -2020 
(1.) Postal Service Board has 

(A.) 3 members (B.) 6 members (C.) 5 members (D.) 8 members 
(2.) The weight limit of book packet is 

(A.) 4 kg (B.) 2 kg (C.) 20 kg (D.) 5 kg 
(3.) A packet of literature for the blind should not exceed 

(A.) 5 Kg (B.) 6 Kg (C.) 7 Kg (D.) 8 Kg 
(4.) Parcel can be booked at BO is 

(A.) 4 kg (B.) 2 kg (C.) 20 kg (D.) 10 kg 
(5.) The ex-officio chairman of the postal service board is 

(A.) Secretary (B.) Member of PLI 
(C.) Minister of Communications (D.) Member of Personnel 

(6.) License for Registered news paper is issued by: 
(A.) DG Posts (B.) Head of the Circle 
(C.) SSP/SP (D.) PMG 

(7.) How many Philately Bureaus are there in J&K Circle? 
 (A.) 2 (B.) 3 (C.) 5 (D.) 4 

(8.) A registered letter is delivered 
(A.) At the address (B.) To the house 
(C.) To the addressee (D.) To anyone in the house 

(9.) A letter should not weigh more than 
(A.) 2 kg (B.) 3 kg (C.) 4Kg (D.) 5 kg 

(10.) The weight of unregistered parcel should not be more than 
(A.) 2 kg (B.) 3 kg (C.) 4 kg (D.) 5 kg 

(11.) All first class mails are transmitted by 
(A.) Train (B.) Bus (C.) Air plane (D.) Ship 

(12.) The annual fee for the issue of permit to business reply cards is  
(A.) Rs. 100/ (B.) Rs. 200/ (C.) Rs. 150/ (D.) Rs. 00/ 

(13.) The Headquarters of Asian Pacific Postal Union is located at 
(A.) Vietnam (B.) Cambodia (C.) Laos (D.) Thailand 

(14.) The number of Office of Exchanges In India for international mails are  
(A.) 5 (B.) 6 (C.) 4 (D.) 7 

(15.) What is the minimum rate for international letters up to 20 gms for all countries  
(A.) Rs 20/- plus surcharge (B.) Rs 5/- plus surcharge 
(C.) Rs 15 /- plus surcharge (D.) Its 25/- plus surcharge 

(16.) An aerogramme should not weigh more than 
(A.) 4gms  (B.) 5gms  (C.) 6gms  (D.) 3gms 

(17.) What is SDR stands for 
(A.) Special Drafting Rules (B.) Special Dial Right 
(C.) Special Drawing Right (D.) Sole Draft Record 

(18.) Fees charged by postal administrations from another for delivery of letter post items is called 
(A.) Levy (B.) Dues 
(C.) Terminal Dues (D.) Exchange charge 

(19.) Despatch note for each parcel is prepared in 
(A.) Form CP-2 (B.) Form CP-3 (C.) Form CP-4 (D.) Form CP-5 

(20.) AD means 
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(A.) Advice of Delivery (B.) Acknowledgement Due 
(C.) Actual Delivery (D.) Accountable Delivery 

(21.) The maximum weight for Foreign Parcel is 
(A.) 10 kg (B.) 15 kg (C.) 20 Kg (D.) 25 kg 

(22.) The Headquarters of Universal Postal Union is located at 
(A.) Bangkok (B.) Manila (C.) Paris (D.) Berne 

(23.) Centre For Excellence in Postal Technology is located at 
(A.) Kolkata (B.) Mumbai (C.) Bengaluru  (D.) Mysuru 

(24.) Nanyatha scheme is for 
(A.) Children letter (B.) Saving Bank 
(C.) Postal Van (D.) Letter Boxes 

(25.) What is WAN? 
(A.) Wide Army Network (B.) Wide Army Net 
(C.) Wide Area Network (D.) Wireless Area Network 

(26.) Primary Data Centre of India Post is located at 
(A.) New Delhi (B.) Bengaluru  
(C.) Ahmedabad  (D.) Navi Mumbai 

(27.) DBT stands for 
(A.) D Bag Transit (B.) Delhi Book Trust 
(C.) Direct Benefit Transfer (D.) Direct Bank Transfer 

(28.) What is KYC? 
(A.) Know Your Client (B.) Know Your Customer 
(C.) KnowYour cash  (D.) Know Your Chicken 

(29.) The amount for which a single money order may be issued must not exceed 
(A.) Rs 2000/ (B.) Rs 3000/ (C.) Rs 4000/ (D.) Rs 5000/ 

(30.) Maximum compensation admissible for loss of foreign registered article is  
(A.) Rs. 400/ (B.) Rs 500/ (C.) Rs. 49/ (D.) Rs 98/ 

(31.) Maximum limit of PLI insurance is 
(A.) 10 Laths (B.) 20Lakhs (C.) 30 Lakhs  (D.) 50lakhs 

(32.) Jeevan Praman Centres are located at 
(A.) SO only (B.) HO 
(C.) Both SO and HO (D.) None of these 

(33.) IMO stands for 
(A.) International Money Order (B.) Instant Money order 
(C.) Indian money order (D.) Inland Money order 

(34.) Maximum weight for EMS is 
(A.) 20 kg (B.) 30 kg (C.) 35 kg (D.) 40 Kg 

(35.) Maximum amount which can be deposited in a SSA account in an year is  
(A.) Rs.5000/- (B.) Rs. 10.000/- 
(C.) Rs. 1.50,000/- (D.) Rs. 50,000/- 

(36.) Minimum amount required for opening of SB account is 
(A.) Rs. 5000/- (B.) Rs. 500/- (C.) Rs. 1000/- (D.) Rs. 10,000/- 

(37.) Minimum amount required for opening an RD account is 
(A.) Rs. 10/- (B.) Rs. 100/- (C.) Rs. 500/- (D.) Rs. 200/- 

(38.) How many branches are there of IPPB in the country 
(A.) 300 (B.) 500 (C.) 450 (D.) 650 
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(39.) The bar code would contain 
(A.) 13 character  (B.) 11 character  
(C.) 16 character  (D.) 12 character 

(40.) Physical KYC forms received by CPC CBS is to be preserved for 
(A.) 1 year (B.) 2 years (C.) 3 years (D.) 4 years 

(41.) The postman returns undelivered unpaid articles to 
(A.) Treasurer (B.) Deposit PA (C.) Delivery PA (D.) Postmaster 

(42.) What is the preservation period for Postmaster's order book  
(A.) 3 years (B.) 5 years (C.) 2 years (D.) 4 years 

(43.) Leather cash bag should be used when the amount of currency notes exceeds 
(A.) Rs 500 (B.) Rs 10,000 (C.) Rs 1000 (D.) Rs 5000 

(44.) Suggestions complaint book (MS-94) will be kept by 
(A.) Head Post Office (B.) Sub Post office 
(C.) Night Post Office (D.) All Post Offices 

(45.) Preservation period of Nominal Roll 
(A.) 3 years (B.) 2 years (C.) 10 years (D.) Permanent 

(46.) A metal token is supplied by 
(A.) SRM (B.) IRM 
(C.) Record Officer (D.) In charge of the Set 

(47.) The supervisor Speed post centre will send his daily report to Manager speed post  
(A.) By Letter (B.) By FAX 
(C.) By e-Mail (D.) By using format MS-83 

(48.) A station bundle is justified when there are more than 
(A.) 5 UR letter mail (B.) 10 UR letter mail 
(C.) 1.5 UR letter mail (D.) 20 UR letter mail 

(49.) High value station MO bundle is justifies when the number of HVMO for particular station exceeds 
(A.) One or more (B.) Two or more 
(C.) Five or more (D.) Ten or more 

(50.) 'A' orders are issued by 
(A.) Superintendent RMS' (B.) Director Postal Service 
(C.) Head Sorter (D.) Inspector RMS 

(51.) Nau Jawan Bharat Sabha was founded by 
(A.) Chadra Sekhar Azad  (B.) Bhagat Singh  
(C.) Rajguru  (D.) Lala Lajpat Rai 

(52.) Who was the founder of Brahma Samaj? 
(A.) Raja Ram Mohan Roy (B.) Swamy Vivekanand  
(C.) Mahatma Gandhi (D.) Aurobindo Ghosh 

(53.) Santhosh Trophy is associated with 
(A.) Cricket (B.) Hockey 
(C.) Football (D.) Table Tennis 

(54.) The highest mountain peak of India is 
(A.) Mt. Karakoram (B.) Mt. Everest 
(C.) Mt. Kanchenjunga (D.) Mt.Nilgiris 

(55.) Lake Chilika is located at 
(A.) Andhra Pradesh (B.) Odisha  
(C.) J&K (D.) Jharkhand 
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(56.) The Indian Constitution came into effect on 
(A.) 26 January, 1950 (B.) 26 November, 1949 
(C.) 15 August. 1947 (D.) 30 June, 1948 

(57.) The Head of the State of India is 
(A.) President (B.) Chief Justice of India 
(C.) Prime Minister (D.) Speaker of Lok Sabha 

(58.) Odometer is to mileage as compass is to 
(A.) Speed (B.) Hiking (C.) Needle (D.) Direction 

(59.) The first Satyagraha campaing of Gandhiji was started in:  
(A.) Dandi  (B.) Kheda  
(C.) Champaran  (D.) Bardoli 

(60.) If Apples, Fruit, Supermarket then novel, book? 
(A.) Magazine (B.) Book Store (C.) Vegetable (D.) Shopping 

(61.) Which team won IPL trophy in 2019 
(A.) Chennai Super Kings (B.) Mumbai Indians 
(C.) Rajasthan Royals (D.) Delhi Capitals 

(62.) The cost of the article was Rs. 16000 and sold at loss of 20 %. The selling price of the article is 
(A.) Rs. 14000 (B.) Rs. 12800 (C.) Rs. 12000 (D.) Rs. 15000 

(63.) The price of a motor cycle was Rs. 60,000 last year. It has increased by 45% this year. The price of 
motorcycle now is: 

(A.) Rs. 75000 (B.) Rs. 80000 (C.) Rs. 87000 (D.) Rs. 90000 
(64.) A man took a loan at the rate of 12 % p.a. simple interest. After 3 years he paid Rs. 5400/- as interest. 
Find the principle amount borrowed by him. 

(A.) Rs.12000 (B.) Rs.15000 (C.) Rs.20000 (D.) Rs.10500 
(65.) Ram obtained 65, 70, 72, 83 and 75 out of 100 in different subjects, what will be the average: 

(A.) 71 (B.) 73 (C.) 75 (D.) 80 
(66.) A and B can together complete a piece of work in 4 days. If A alone can complete the same work in 12 
days, in how many days can B alone can complete that work?  

(A.) 5 days (B.) 6 days (C.) 2 days (D.) 3 days 
(67.) What is Aman's present age, if after 20 years his age will be 10 times his age 10 years back?  

(A.) 6.2 years (B.) 7.7 years (C.) 13.3 years (D.) 10 years 
(68.) Nisha is 15 years elder to Romi. If 5 years ago, Nisha was 3 times as old as Romi, then find Nisha's 
present age 

(A.) 32.5 years (B.) 27.5 years (C.) 25 years (D.) 30 years 
(69.) A publisher incurs following expenditure while publishing a book:  
(Promotion Cost - 10 %, Printing Cost - 20 %, Transportation Cost - 10 %, Paper Cost -25%, Binding - 20 %, 
Royalty - 15 %) 
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If the printing cost of a book is Rs. 30,600 then what is the expenditure incurred in publishing the book.  
(A.) Rs. 1,50,000  (B.) Rs. 1,10,000  
(C.) Rs. 1,75,000  (D.) Rs. 1,53,000 

(70.) A publisher incurs following expenditure while publishing a book:  
(Promotion Cost - 10 %, Printing Cost - 20 %, Transportation Cost - 10 %, Paper Cost - 25 %,Binding - 20 %, 
Royalty - 15 %) 
 

 
If 6000 copies are published and cost of transportation is Rs. 90,000 then what should be selling price to earn 
profit of 20 %  

(A.) Rs. 175 (B.) Rs. 190 (C.) Rs. 180 (D.) Rs. 200 
(71.) A publisher incurs following expenditure while publishing a book: (Promotion Cost - 10 %, Printing 
Cost - 20 %, Transportation Cost - 10 %, Paper Cost - 25 %,Binding - 20 %, Royalty - 15 %) 

 
Royalty is less than printing cost by 

(A.) 5% (B.) 10 % (C.) 15% (D.) 25% 
(72.) A publisher incurs following expenditure while publishing a book: (Promotion Cost - 10 %, Printing 
Cost - 20 %, Transportation Cost - 10 %, Paper Cost - 25 %,Binding - 20 %, Royalty - 15 %) 

 
If expenditure incurred on book is Rs.400000 then what is the cost incurred on binding? 

(A.) Rs. 60,000 (B.) Rs. 90,000 (C.) Rs. 75,000 (D.) Rs. 80,000 
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(73.) A publisher incurs following expenditure while publishing a book: (Promotion Cost - 10 %, Printing 
Cost - 20 %, Transportation Cost - 10 %, Paper Cost - 25 %,Binding - 20 %, Royalty - 15 %) 

 
If paper cost is Rs. 100000 then to earn profit of 25% what should be the selling price of books?  

(A.) Rs. 200000 (B.) Rs. 300000 (C.) Rs. 400000 (D.) Rs. 500000 
(74.) How much time does Aditya take to cover a distance of 500m, if he runs at a speed of 10 km/hr?  

(A.) 72 seconds (B.) 180 seconds 
(C.) 60 seconds (D.) 152 seconds 

(75.) A man is walking at a rate of 10 km/hr crosses a bridge in 15 minutes. Then the length of the bridge is 
(A.) 1000 meters (B.) 1250 meters 
(C.) 1200 meters (D.) 2500 meters 

(76.) If 16 dozens bananas cost Rs. 360m then how many bananas can be bought in Rs. 60? 
(A.) 32 (B.) 48 (C.) 25 (D.) 40 

(77.) Evaluate  

1 2[{ 2(6 4) 20} 2]      

(A.) -50 (B.) -100 (C.) 5/2 (D.) 18/5 
(78.) A person got 16 % increase in his salary. If his salary was Rs.50000, then the new salary is: 

(A.) Rs. 58000 (B.) Rs. 60000 (C.) Rs. 56000 (D.) Rs. 72000 
(79.) Evaluate(12/3 + 16/4) of 20: 

(A.) 120 (B.) 124 (C.) 100 (D.) 160 
(80.) Gowri invested some money in a bank at a rate of 6% per annum. At simple interest, after 9 years, she 
got Rs. 8470. How much did she invest?  

(A.) 5250 (B.) 6550 (C.) 6400 (D.) 5500 
(81.) Sam borrowed some money from his friend at simple interest of 6 % per annum. He returned his friend 
at simple interest of 6% per annum. He returned his friend Rs. 15600. After how much time did Sam return 
the money if he borrowed Rs. 12000? 

(A.) 8 years (B.) 5 years (C.) 2.5 years (D.) 3.5 years 
(82.) If the cost price is 25 % of selling price. Then what is the profit percent 

(A.) 150 % (B.) 300 % (C.) 200% (D.) 350 % 
(83.) A person incurs a loss of 5% by selling a watch for Rs. 1140. At what price should the watch be sold 
to earn 5% profit? 

(A.) 1200 (B.) 1260 (C.) 1230 (D.) 1290 
(84.) An item marked at Rs. 840 is sold for Rs. 714. The discount % is: 

(A.) 10% (B.) 15% (C.) 20% (D.) 25% 
(85.) Salma bought an air cooler for Rs. 2200 including a tax of 10%. The price of the air cooler before 
VAT was added is 

(A.) Rs 2000/ (B.) Rs 3000/ (C.) Rs 2500/ (D.) Rs 2800/ 
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(86.) Worker A takes 8 hours to do a job. Worker B takes 10 hours to do a job. How long should it take both 
A and B, working together to do same job? 

(A.) 140/9 hrs (B.) 20/9 hrs (C.) 38/9 hrs (D.) 4/9 hrs 
(87.) If cost of 24 oranges is 72, then find out the cost of 120 oranges. 

(A.) Rs 180 (B.) Rs 360 (C.) Rs 172 (D.) Rs 500 
(88.) Calculate Average of all prime numbers between 30 to 50:  

(A.) 39.8 (B.) 39 (C.) 37 (D.) 37.8 
(89.) Choose the figure which is different from the rest 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(90.) Choose the figure which is different from the rest 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(91.) Choose the figure which is different from the rest 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(92.) Find the number of triangles in the given figure 

 
(A.) 12 (B.) 22 (C.) 18 (D.) 26 

(93.) Choose the figure which is different from the rest 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(94.) What will be next number in the series? 4, 9, 16, 25, 
(A.) 27 (B.) 30 (C.) 32 (D.) 36 

(95.) Look at this series: 3, 4, 7, 8, 11, 12,What number should come next?  
(A.) 7 (B.) 10 (C.) 14 (D.) 15 

(96.) What will complete the following series? 
SCD, TEF, UGH, _, WKL  

(A.) CMN (B.) UJI (C.) VIJ (D.) IJT 
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(97.) In an artificial language grana melke means big tree; pini melke means little tree; melke hoon means 
tree house. Which word could mean 'big house'? 

(A.) Pini hoon  (B.) Melke grana  
(C.) Pini shur  (D.) Grana hoon 

(98.) If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473, what will be 
the code for SEARCH? 

(A.) 246173 (B.) 214673 (C.) 214763 (D.) 216473 
(99.) The novel war and peace is written by 

(A.) Pt. Nehru (B.) Mahatma Gandhi 
(C.) Mark Tully (D.) Leo Tolstoy 

(100.) Kathak is dance form of which state? 
(A.) Madhya Pradesh (B.) Uttar Pradesh 
(C.) Bihar (D.) Haryana 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



www.vvacademy.com         for free material click  https://www.t.me/+ImPB0BcWstNkY2Nl    9985525552

 
 

  
V V ACADEMY POSTAL GDS/PM/MTS TO PA/SA EXAM PREVIOUS PAPERS  80 

 

JAMMU & KASHMIR CIRCLE- PA/SA EXAM -2020 
ANSWER 

(1.) B (2.) D (3.) C (4.) D (5.) A 
(6.) C (7.) B (8.) C (9.) A (10.) A 
(11.) C (12.) B (13.) D (14.) D (15.) A 
(16.) D (17.) C (18.) D (19.) A (20.) A 
(21.) C (22.) D (23.) D (24.) D (25.) C 
(26.) D (27.) C (28.) B (29.) D (30.) B 
(31.) D (32.) C (33.) B (34.) C (35.) C 
(36.) B (37.) C (38.) D (39.) A (40.) A 
(41.) C (42.) A (43.) A (44.) D (45.) D 
(46.) C (47.) D (48.) C (49.) A (50.) A 
(51.) B (52.) A (53.) C (54.) C (55.) B 
(56.) A (57.) A (58.) D (59.) C (60.) B 
(61.) B (62.) B (63.) C (64.) B (65.) B 
(66.) D (67.) C (68.) B (69.) D (70.) D 
(71.) A (72.) D (73.) D (74.) B (75.) D 
(76.) B (77.) B (78.) A (79.) D (80.) D 
(81.) B (82.) B (83.) B (84.) B (85.) A 
(86.) A (87.) B (88.) A (89.) A (90.) A 
(91.) B (92.) B (93.) C (94.) D (95.) D 
(96.) C (97.) D (98.) B (99.) D (100.) B 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


